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Q.1. Choose the correct options.   (1 x 10 = 10)  
(i) A right angled triangle can not be ______ triangle.

 ______  
(a) isosceles  (b) equilateral                     
(c) scalene                            (d) Both isosceles and scalene


(ii) In right angled triangle, aone angle is 90o and the other two angles are:

 90o  
(a) complementary     (b) supplementary          
(c) obtuse                                   (d) reflex                                

(iii) In an isosceles triangle, if base angles are equal to 42o each, then vertical 

angle is:  42o 
(a) 42o (b) 76o (c) 84o (d) 96o

(iv) The diagonals in the quadrilateral _____ do not bisect each other:

 ______ 
(a) square    (b) rectangle  (c) kite    (d) rhombus

(v) The exterior angle of regular octagon is: 
(a) 35o (b) 45o (c) 90o (d) 135o

(vi) In which quadrilateral, there are no parallel lines? 
(a) kite    (b) square    (c) rectangle  (d) rhombus

(vii)The movement of an object from one position to another position along

straight line is called:


(a) rotation  (b) translation  (c) reflection  (d) measurement 

(viii) Which of the following quadrilateral has no rotational symmetry?


(a) kite          (b) rectangle  (c) rhombus  (d) square   

(ix) A polygon is said to be ______ if atleast one angle is reflex.

 _____ 
(a) regular   (b) concave 



 (c) convex  (d) closed  
(x) The order of rotational symmetry of hexagon is:


(a) 2 (b) 4 (c) 6 (d) 8

Q.2. Answer the following questions: (2x4=8)  
(i). Find the translation if the point B(-3,2) is mapped on to the point B'(2,6).

 B'(2,6)  B(-3,2) 
(ii).Constract triangle POR if mPR = 5.5cm, mR =45o and mPQ =6.7cm.

 mPQ =6.7cm  mR =45omPR=5.5  PQR
(iii). Find the value of unknown angle.



(iv). Using ruler and compass contruct the give angles.   (2.5x2=5)



(a) 165O (b)

Q.3. Construct an isosceles triangle with base length 5.4cm and base angles

each of measure 7.5o.     (1x3=3)

 75o  5.4 
Q.4. The interior angles of a pentagon are in the ratio 1:2:3:4:2. Find these

angles.     (1x4=4)

 1:2:3:4:2 
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